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38.3

@

26.5

62.7




1.7

2.3

Fc=18N/mm2 SI=15




D16 L=500 120
L=176
SD295 D13
180
kg
1
0.2
0.2
SD295 D10
315
kg
SD295 D13
323
kg
SD295 D16
96.2
kg
1
0.7

0.7







Fc=2IN/mm2 SI=15

3.3

Fc=21N/mm2 SI=15

10.8
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16.5

16.5

34.2

25.7

25.7

59.9
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C )
H SN400B H-100 100 6 8
461
kg
JIS M16 TB
154
kg
SN400B  PL-9
120
kg
S10T M-16
L=45 64.9
kg
1
704
kg
766
kg
766
kg
6
75.2
M16
60
766

kg
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H SN400B H-250 125 6 9
877
kg
H SN400B H-100 100 6 8
598
kg
STKR400 O -150 100 4.5
34.9
kg
SSC400 2C-100x50x20x2.3
459
kg
SSC400 C-100x50x20x2.3
687
kg
SS400 L-75X75X6
122
kg
JIS M16 TB
111
kg
SN400B  PL-16
26
kg
SN400B PL-12
9
kg
SN400B  PL-9
175
kg
SN400B PL-6
14
kg
S10T M-16
L=55 21.5
kg
S10T M-16
L=45 9.9
kg
S10T M-16
L=40 7.2
kg
FAT M-12
L=125 68
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FAT M-12
L=25

270

SS400 M20 L=600DN

16

SS400 M16 L=450DN

2,862

kg

3,006

kg

3,006

kg

3,006

kg

M16

192
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15x 10

(MS-2)

77.3
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3% 25

27.
100 25

26.
80 30

3.
105 50

31.
150 45 75 45

28.

45 45
7.
31.

79.
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t=0.5
940 63.
1=20.0
t=0.5
208
t=0.4 230
39.
t=0.4 230
1.
t=0.4 300
79.
t=0.4
39.
t=0.4
10.
t=0.4
19.
t=0.4 GB-S t=12.5
39.
t=0.4 180 )
50.
t=0.4 230
2.
900 2000
1
150
38.
150
;
100

28.
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18

19 1.5
@225 16.8
1
19 1.5
@225 46
25 1.0
@225 10.3
1
90 @450

16
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30

21.1

20

8.9

25

3.6
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AD-1

AD-2

AD-5

AW-2

AW-3

WD-5

Ww-1
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1
1
4
20.1
6.8mm
3.8
SR-1
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17.1
RB
14.6
( 300 ) 84.9
137
A
( 300mm ) 3.1
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2.5
2.
1.
2(  )0.8FK 6
6.
2( )0.8FK 6
10.
50.
9.0
4.
17.
2(  )0.8FK 6
63.
12.5
63.
(GB-S)
50
39.
2( )0.8FK 6

46
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(GB-D)

9.5

8.9

2(

)0.8FK

6

10.3
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A,B,C
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23.

12

40 70

40 30

199

L=4500
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8.9
10.7
6.1
56.3
¢ 120
25.8
¢ 9
17.6
W=900 H1760
1
40 100
5.2
40 25
10.4
28
® )
242
(B

3.8
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14.

t=20

63.

12.

30 50kg/ 2

51.

23

t=6.0 PB t=12.0

¢ 120

12.

¢ 9

10.

19

CB

t=100

25.

19.
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51.3

PB t=12.0

39.1

9.4
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SD295 D10

81.

kg

SD295 D13

42.

kg

Fc=21N/mm2 SI=15

11.

300

30

A-5-15

11.
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